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	1
	International business is defined as the performance of ________ activities by firms across national borders.
	

	A)
	marketing and fiduciary
	

	B)
	trade and investment
	+

	C)
	finance and operational
	

	D)
	accounting and auditing
	

	E)
	export and import
	

	2
	Which of the following best characterizes the development of international business?
	

	A)
	It has existed in some form for centuries.
	+

	B)
	It first started in Europe.
	

	C)
	It developed after the year 2000.
	

	D)
	Its development has slowed in recent years.
	

	E)
	non of the answers
	

	3
	Each of the following represents a factor of production EXCEPT ________.
	

	A)
	 manufacturing infrastructure
	

	B)
	 technology
	

	C)
	 government regulations
	+

	D)
	 managerial talent
	

	E)
	 financial assets
	

	4
	Which of the following would NOT be considered an example of foreign direct investment (FDI)?
	

	A)
	 cross-border purchase of a textile plant
	

	B)
	 cross-border purchase of stocks
	+

	C)
	 purchase of capital assets of a foreign company
	

	D)
	 purchase of foreign land for business operations
	

	E)
	 cross-border purchase of  car factory
	

	5
	Which of the following is NOT an example of a cross-cultural risk factor?
	

	A)
	negotiation patterns
	

	B)
	decision-making styles
	

	C)
	costs of production
	+

	D)
	ethical practices
	

	E)
	sustainability
	

	6
	Philip Baxter reported on the risks associated with establishing the plant in Country A. The most significant risk, in his view, was posed by the government's complex bureaucratic structure. Philip reported the likelihood of significant administrative delays in opening the plant. The risk identified by Philip is an example of which of the following?
	

	A)
	country risk
	+

	B)
	commercial risk
	

	C)
	currency risk
	

	D)
	cross-cultural risk
	

	E)
	community risk
	

	7
	LeShaun Golding researched the risks linked to establishing the plant in Country B. He cited government intervention, lack of local managerial talent, and unethical business practices as the most prominent risks for this location. LeShaun noted all of the following types of risks EXCEPT ________.
	

	A)
	currency risk
	+

	B)
	political risk
	

	C)
	country risk
	

	D)
	cross-cultural risk
	

	E)
	community risk
	

	8
	The process of targeting and serving markets outside the home country is known as ________.
	

	A)
	market diversification
	+

	B)
	competition intensity
	

	C)
	reactive internationalization
	

	D)
	trade protectionism
	

	E)
	embargos
	

	9
	Which of the following contributes LEAST to increasing a company's profit margins?
	

	A)
	increasing demand
	

	B)
	increasing global competition
	+

	C)
	high-growth markets
	

	D)
	underserved economies
	

	E)
	decreasing demand
	

	10
	Which of the following best explains why Taiwanese computer manufacturers established subsidiaries in the United States?
	

	A)
	low-cost financial capital
	+

	B)
	low-cost labor
	

	C)
	access to raw materials
	

	D)
	lack of skilled managerial talent in home country
	

	E)
	lack of technology
	

	11
	Which of the following is characteristic of globalization of markets? 
	

	A)
	lack of skilled labor 
	

	B)
	conservatism 
	

	C)
	declining trade barriers 
	+

	D)
	diminishing gap between the rich and the poor 
	

	E)
	empowerment
	

	12
	Governments have facilitated economic integration by ________. 
	

	A)
	increasing barriers to international trade and investment 
	

	B)
	creating supranational institutions to further reduce trade barriers 
	+

	C)
	adopting different monetary and fiscal policies within the same regional economic integration blocs 
	

	D)
	standardizing consumer lifestyles and preferences 
	

	E)
	diminishing gap between the rich and the poor
	

	13
	Convergence of consumer preferences has led to an enhanced emphasis on standardization, which implies that ________.
	

	A)
	 the consistently rising prices of consumer goods have led to a demand vacuum in the market 
	

	B)
	 the distance between consumers worldwide has increased with the advent of technology 
	

	C)
	the raw materials, parts, and components sourced by professional buyers are very similar in design and structure 
	+

	D)
	the globalization of services has adversely affected the quality of service worldwide 
	

	E)
	adopting different monetary and fiscal policies within the same regional economic integration blocs 
	

	14
	Which of the following statements is TRUE about value chain and international business? 
	

	A)
	Exporting firms perform most of the downstream value chain activities in the home market. 
	

	B)
	Exporting firms perform most of the upstream value chain activities in the home market. 
	+

	C)
	Exporting firms perform most of the upstream value chain activities abroad.
	

	D)
	Exporting firms perform most of the research and product development and production abroad. 
	

	E)
	The globalization of services has adversely affected the quality of service worldwide 
	

	15
	In a typical value chain, the firm ________. 
	

	A)
	rarely conducts research and development 
	

	B)
	performs most upstream value-chain activities abroad, when exporting 
	

	C)
	performs marketing activities such as pricing, promotion, and selling 
	+

	D)
	performs most downstream activities in the home market, when exporting 
	

	E)
	the globalization of services has adversely affected the quality of service worldwide 
	

	16
	Which of the following is an example of offshoring? 
	

	A)
	Fahad, a resident of the UAE, can share his views—data and information—about the country's construction industry with his friends in the U.S. 
	

	B)
	The IT support services for customers of Mayfair Inc., a U.S. based consumer electronics manufacturer, are based in India. 
	+

	C)
	Treat Corp. is a food and beverage manufacturer based in Texas. It decided to move from Houston to Fort Worth in Texas to cut production costs. 
	

	D)
	Lin, a Chinese citizen, decides to move to the U.K. after her application for scholarship is accepted by a leading university in London. 
	

	E)
	None of above mentioned
	

	17
	________ marked the end of the 50-year Cold War and smoothed the integration of former command economies into the global economy. 
	

	A)
	The end of World War II 
	

	B)
	The Bolshevik Revolution in Russia 
	

	C)
	Free-market reforms in China and the former Soviet Union 
	+

	D)
	China's move to join the WTO 
	

	E)
	None of above mentioned
	

	18
	As market globalization intensifies, ________. 
	

	A)
	the gap between the rich and the poor shrinks rapidly 
	

	B)
	the distance between consumers worldwide expands
	

	C)
	individual firms respond to the challenges and new advantages that it brings 
	+

	D)
	firms internationalize solely as a reaction to it 
	

	E)
	the globalization of services has adversely affected the quality of service worldwide 
	

	19
	Which of the following situations illustrate a polychronic perspective? 
	

	A)
	When a North American talks to a Latin American, he or she may unconsciously back up to maintain personal space. 
	

	B)
	In Islamic countries close interaction between men and women is not encouraged in public places. 
	

	C)
	Latin Americans have a flexible perception of time and may not arrive exactly at the predetermined time for appointments. 
	+

	D)
	People in young countries like Australia, Canada, and the United States are relatively focused on schedules, punctuality, and time as a resource. 
	

	E)
	None of above mentioned
	

	20
	Values in a culture ________. 
	

	A)
	epresent the symbolic, material, and creative productions unique to a society 
	

	B)
	are rigidly held attitudes, usually unfavorable and usually aimed at particular groups of people 
	

	C)
	represent a person's judgments about what is good or bad, acceptable or unacceptable, important or unimportant, and normal or abnormal 
	+

	D)
	are similar to opinions but are often unconsciously held and may not have a rational basis 
	

	E)
	None of above mentioned
	

	21
	Which of the following is TRUE about language? 
	

	A)
	Language does not entail facial expressions and gestures. 
	

	B)
	National languages, dialects, and translation facilitate straightforward communication. 
	

	C)
	Language has both verbal and nonverbal characteristics. 
	+

	D)
	Business jargons are common across cultures. 
	

	E)
	None of above mentioned
	

	22
	Which of the following is characteristic of collectivist societies? 
	

	A)
	In collectivist societies, each person tends to focus on his or her own self-interest. 
	

	B)
	In collectivist societies, compromise and conformity help maintain group harmony. 
	+

	C)
	In collectivist societies, ties among people are relatively loose. 
	

	D)
	In collectivist societies, those who compete best are rewarded financially. 
	

	E)
	None of above mentioned
	

	23
	Which of the following countries is an example of a strongly collectivist society? 
	

	A)
	Ireland 
	

	B)
	Canada 
	

	C)
	Australia
	

	D)
	China 
	+

	E)
	USA
	

	24
	High power-distance countries are characterized by ________. 
	

	A)
	organizations that grant a high degree of autonomy to lower-level employees 
	

	B)
	a strong desire to minimize gaps between the powerful and the weak 
	

	C)
	a relative indifference toward social inequalities 
	+

	D)
	a relative equality in terms of income and power 
	

	E)
	none of above mentioned
	

	25
	Which of the following is TRUE about low-context cultures? 
	

	A)
	People belonging to low-context cultures do not prefer explicit communications.
	

	B)
	Low-context cultures emphasize an indirect and polite face-saving style of communication.
	

	C)
	Low-context cultures rely on elaborate verbal explanations, putting much emphasis on spoken words
	+

	D)
	People belonging to low-context cultures view communication as a means to promote smooth, harmonious relationships. 
	

	E)
	None of above mentioned
	

	26
	Which of the following countries exhibit a high-context culture? 
	

	A)
	Japan 
	+

	B)
	Germany 
	

	C)
	The United States of America 
	

	D)
	Switzerland 
	

	E)
	UK
	

	27
	Which of the following refers to the extent to which people can tolerate risk in their lives? 
	

	A)
	uncertainty avoidance 
	+

	B)
	long-term versus short-term orientation 
	

	C)
	power distance 
	

	D)
	individualism
	

	E)
	none of above mentioned
	

	28
	Which of the following managers portrays high uncertainty avoidance? 
	

	A)
	Greg manages the market development fund team for a leading computer manufacturing firm. He is entrepreneurial and makes decisions quickly under tough situations. 
	

	B)
	James is the business head of marketing in a leading automobile manufacturing company. He coaches his team members to become accustomed to risk and organizational change. 
	

	C)
	Henry is the managing editor at Paes publications. He emphasizes careful evaluation of all options and ensuring they are consistent with company policies, which often slows down the progress. 
	+

	D)
	 David manages the technical team at TR Solutions. He is open to different opinions from team members and is not threatened by differing opinions. 
	

	E)
	None of above mentioned
	

	29
	Feminine cultures tend to emphasize ________. 
	

	A)
	interdependence among people 
	+

	B)
	accumulation of wealth 
	

	C)
	ambition 
	

	D)
	competitiveness 
	

	E)
	empowerment
	

	30
	As part of opening manufacturing units abroad, a U.S. apparel firm decided to send its apparel production coordinator Chris to Bangladesh. Chris is distressed that people don't come to meetings on time and finds it disrespectful when his team members stand too close to him. Chris may trigger a cross-cultural risk by a(n) ________.
	

	A)
	ethnocentric orientation 
	+

	B)
	anthropocentric orientation 
	

	C)
	polycentric orientation 
	

	D)
	geocentric orientation 
	

	E)
	none of above mentioned
	

	31
	Which of the following situations is an example of geocentric orientation? 
	

	A)
	Marsha, CEO of QST Solutions, believes that top level executives at her company should be Americans to avoid any communication gaps. 
	

	B)
	The Gram Group of retail stores decided to open branches in China and focus on changing their policies to suit the Chinese population to maximize profits. 
	

	C)
	Derek, the VP of Banner Technologies, wants managers from the firm's India office to visit the U.S. branch to provide training to American officials visiting India. 
	+

	D)
	Chill & Break Inc., an American global coffee company, is used to judging other cultures by the standards of its own culture. 
	

	E)
	None of above mentioned
	

	32
	________ refers to the system of procedures and processes by which corporations are managed, directed, and controlled. 
	

	A)
	Corporate governance 
	+

	B)
	Deceptive marketing 
	

	C)
	Global sourcing 
	

	D)
	Corporate social responsibility 
	

	E)
	Common good approach
	

	33
	Which of the following behaviors of a firm can be called unethical? 
	

	A)
	setting up operations abroad 
	

	B)
	manufacturing luxury consumer goods 
	

	C)
	tolerating sweatshop conditions 
	+

	D)
	failing to meet shareholders' expectations with regard to annual profit 
	

	E)
	None of above mentioned
	

	34
	An international human rights organization recommends that its member countries review their human rights policies on a periodic basis to ensure that their governments are upholding ethical standards for the treatment of prisoners. Which of the following represents the most effective reasoning in support of the organization's recommendation?
	

	A)
	Ethical policies and practices tend to remain consistent within the same country over time. 
	

	B)
	Nations should emphasize more rehabilitation than retribution in their treatment of prisoners. 
	

	C)
	Nations should enforce only those ethical standards that have been adopted by other nations. 
	

	D)
	 Ethical standards change over time, so national policies should be updated as necessary. 
	+

	E)
	None of above mentioned
	

	35
	Which of the following is TRUE with regard to corruption? 
	

	A)
	Countries with minimal corruption fail to attract direct investment. 
	

	B)
	In firms, corruption rarely occurs across the range of value chain activities. 
	

	C)
	Corruption harms the poorest in societies. 
	+

	D)
	Under the Sherman Antitrust Act, firms charged for corruption may be fined $2 million and managers can be imprisoned for up to five years. 
	

	E)
	None of above mentioned
	

	36
	Which of the following would most likely be considered an appropriate action for a multinational company in meeting its global corporate social responsibility obligations? 
	

	A)
	lowering production costs for specific manufactured items 
	

	B)
	improving the efficiency of assembly line operations 
	

	C)
	developing a strategic plan to enter an emerging market 
	

	D)
	devoting substantial R&D to poor-country ailments 
	+

	E)
	none of above mentioned
	

	37
	Which of the following approaches to ethical standards for corporate governance reflects the view that the best action emphasizes the welfare of the entire community or nation? 
	

	A)
	rights approach 
	

	B)
	utilitarian approach 
	

	C)
	common good approach 
	+

	D)
	virtue approach 
	

	E)
	none of above mentioned
	

	38
	________ refers to the superior features of a country that provide unique benefits in global competition, typically derived from either natural endowments or deliberate national policies.
	

	A)
	Comparative advantage
	+

	B)
	Competitive advantage
	

	C)
	Absolute advantage
	

	D)
	Industrial cluster
	

	E)
	Diamond model
	

	39
	Competitive advantage refers to the ________.
	

	A)
	belief that national prosperity is the result of a positive balance of trade, achieved by maximizing exports and minimizing imports
	

	B)
	superior features of a country that provide unique benefits in global competition, typically derived from either natural endowments or deliberate national policies
	

	C)
	distinctive assets or competencies of a firm that are difficult for competitors to imitate and are typically derived from specific knowledge, capabilities, skills, or superior strategies
	+

	D)
	relative absence of restrictions to the flow of goods and services between nations
	

	E)
	None of above mentioned
	

	40
	Which of the following is TRUE with regard to competitive advantage?
	

	A)
	Competitive advantages are typically derived from deliberate national policies.
	

	B)
	 A competitive advantage is difficult for competitors to imitate.
	+

	C)
	 A competitive advantage is also known as a country-specific advantage.
	

	D)
	 Competitive advantage includes inherited resources, such as arable land.
	

	E)
	 None of above mentioned
	

	41
	In recent years, business executives and scholars have used ________ to refer to the advantages possessed by nations and individual firms in international trade and investment.
	

	A)
	comparative advantage
	

	B)
	country-specific advantage
	

	C)
	competitive advantage
	+

	D)
	cost advantage
	

	E)
	diamond model
	

	42
	Which of the following is TRUE with regard to firm-level theories?
	

	A)
	Firm-level theories are classical theories, widely accepted since the sixteenth century.
	

	B)
	Firm-level explanations address the question: "How can internationalizing firms gain and sustain competitive advantage?"
	+

	C)
	Firm-level explanations address the question: "Why do nations trade?"
	

	D)
	Firm-level theories do not address the issue of organizational performance.
	

	E)
	None of above mentioned
	

	43
	________ is the belief that national prosperity is the result of a positive balance of trade, achieved by maximizing exports and minimizing imports.
	

	A)
	Positivism
	

	B)
	Imperialism
	

	C)
	Communism
	

	D)
	Mercantilism
	+

	E)
	Totalitarianism
	

	44
	Which of the following is a typical outcome of free trade?
	

	A)
	Unrestricted international trade generally increases the overall prosperity of poor countries.
	+

	B)
	Free trade sustains inflation in developing economies.
	

	C)
	Domestically produced products tend to be cheaper than imported products.
	

	D)
	Lower-cost imports cause living standards to deteriorate.
	

	E)
	None of above mentioned
	

	45
	Which of the following is an example of a location-specific advantage?
	

	A)
	managerial skills
	

	B)
	skilled labor
	+

	C)
	proprietary knowledge
	

	D)
	the ability to reduce buyer uncertainty
	

	E)
	availability of patent
	

	46
	Which of the following refers to a collaborative venture which results in a new legal entity?
	

	A)
	non—equity-based strategic alliances
	

	B)
	sole proprietorships
	

	C)
	equity-based joint ventures
	+

	D)
	not-for-profit organizations
	

	E)
	none of above mentioned
	

	47
	Which of the following is a benefit of internalizing foreign-based value-chain activities?
	

	A)
	The MNE maintains a monopolistic presence in foreign countries.
	

	B)
	The MNE eliminates employee turnover.
	

	C)
	The MNE oversees control of foreign operations and ensures product quality.
	+

	D)
	The MNE learns new manufacturing methods from foreign partners.
	

	E)
	None of above mentioned
	

	48
	The eclectic paradigm specifies three conditions that determine whether a company will internationalize via FDI. Which of the following refer(s) to one of those conditions?
	

	A)
	entrepreneurial orientation of national enterprises
	

	B)
	FDI stock
	

	C)
	availability of variable capital in the home country
	

	D)
	location-specific advantages
	+

	E)
	none of above mentioned
	

	49
	Which of the following is an example of an ownership-specific advantage?
	

	A)
	the physical assets owned by a firm
	+

	B)
	natural resources of the region where the firm operates
	

	C)
	low-cost labor
	

	D)
	inexpensive capital
	

	E)
	none of above mentioned
	

	50
	________ theory suggests that firms using FDI as an internationalization strategy must own or control certain resources and capabilities not easily available to competitors.
	

	A)
	Factor proportions
	

	B)
	Monopolistic advantage
	+

	C)
	Internalization
	

	D)
	Absolute advantage
	

	E)
	None of above mentioned
	

	51
	Which of the following refers to an important monopolistic advantage for firms?
	

	A)
	imitable skills
	

	B)
	unskilled labor
	

	C)
	favorable climate
	

	D)
	proprietary technology
	+

	E)
	none of above mentioned
	

	52
	________ is an explanation of the process by which firms acquire and retain one or more value-chain activities inside the firm, minimizing the disadvantages of dealing with external partners and allowing for greater control over foreign operations.
	

	A)
	Internalization theory
	+

	B)
	Monopolistic advantage theory
	

	C)
	Absolute advantage theory
	

	D)
	Dunning's eclectic paradigm
	

	E)
	None of above mentioned
	

	53
	Which of the following explains the expansion of born global firms despite the scarcity of financial, human, and tangible resources?
	

	A)
	globalization has made doing international business easier than ever before.
	+

	B)
	a concerted effort by developing nations for running a trade surplus
	

	C)
	product shortages and supply crunch resulting from import restrictions
	

	D)
	rising inflation in developing economies
	

	E)
	none of above mentioned
	

	54
	Current trends suggest that early internationalizing firms will ________.
	

	A)
	eliminate MNEs worldwide
	

	B)
	be unable to sustain the rigors of international trade
	

	C)
	become even more common in international business
	+

	D)
	significantly dampen entrepreneurial efforts of smaller firms
	

	E)
	none of above mentioned
	

	55
	Which of the following terms indicates potential loss or adverse effects on company operations and profitability caused by developments in a country's political and/or legal environments?
	

	A)
	commercial risk
	

	B)
	currency risk
	

	C)
	cross-cultural risk
	

	D)
	country risk
	+

	E)
	communication risk
	

	56
	Country risk is considered similar to ________.
	

	A)
	political risk
	+

	B)
	commercial risk
	

	C)
	currency risk
	

	D)
	cross-cultural risk
	

	E)
	communication risk
	

	57
	Which of the following best explains why India was once characterized by high country risk?
	

	A)
	Taxes and financial incentives benefited Indian businesses over foreign firms.
	

	B)
	Indian business leaders distrusted most European corporations.
	

	C)
	The government of India imposes many restrictions on imports and inward foreign investment.
	+

	D)
	Indian leaders feared the modern influences of American firms.
	

	E)
	None of above mentioned
	

	58
	Which of the following characterizes country risk?
	

	A)
	The political and legal systems of adjacent nations greatly impact the country risk of nations that host foreign firms.
	

	B)
	Country risk will change only after the creation of laws and regulations that affect foreign firms.
	

	C)
	A nation's country risk level remains fairly constant until the election and installation of a new political leader.
	

	D)
	Country risk is always present, but its nature and intensity vary over time and from country to country.
	+

	E)
	None of above mentioned
	

	59
	The three major types of current political systems are ________.
	

	A)
	authoritarianism, socialism, and democracy
	+

	B)
	socialism, democracy, and monarchy
	

	C)
	authoritarianism, liberalism, and fascism
	

	D)
	democracy, republicanism, and oligarchy
	

	E)
	none of above mentioned
	

	60
	Which of the following is the underlying principle of socialism?
	

	A)
	The welfare of individuals far outweighs the welfare of society.
	

	B)
	Collective welfare of people outweighs the welfare of the individual.
	+

	C)
	Capital and wealth should be vested in the hands of few and used primarily as a means of profit.
	

	D)
	The state should protect itself from individual and group interests.
	

	E)
	None of above mentioned
	

	61
	What has been the impact of social democracy on international business relations in some European countries?
	

	A)
	Regulations have forced foreign firms to invest elsewhere.
	+

	B)
	Politically conscious foreign firms have begun investing in socialist nations.
	

	C)
	Low income tax rates have encouraged an influx of FDI.
	

	D)
	Political stability has decreased the country risk of socialist nations.
	

	E)
	None of above mentioned
	

	62
	Which of the following is a typical complaint of host-country competitors against foreign firms?
	

	A)
	Foreign firms burden the host country with infrastructure requirements.
	

	B)
	Foreign firms do not have to obey host-country laws and regulations.
	

	C)
	Foreign firms receive financial support from host-country governments.
	+

	D)
	Foreign firms lure host-country workers to the home-country businesses.
	

	E)
	None of above mentioned
	

	63
	Boycotts and protests have the potential to harm businesses by ________.
	

	A)
	preventing businesses from shipping their products to foreign markets
	

	B)
	lost sales and increased costs for public relations activities
	+

	C)
	destroying the ability of all local firms to carry on normal business operations
	

	D)
	raising concerns about a firm's foreign operations by initiating lawsuits
	

	E)
	none of above mentioned
	

	64
	Which of the following is an example of nontariff trade barrier?
	

	A)
	Gayle Inc. is a U.S.-based retailer that imports cosmetic products manufactured in Thailand. These products pass through U.S. customs and are subject to a 5 percent import duty.
	

	B)
	The U.S. imports chocolates manufactured in Belgium that cost $65 a box with taxes.
	

	C)
	The U.S. Department of Commerce announced that white sugar imports will be limited to 7,500 million tons.
	+

	D)
	Spices imported from India to the U.S. for sale in the domestic market are subject to a 10 percent import duty
	

	E)
	None of above mentioned
	

	65
	Imposing trade restrictions such as tariffs or quotas ________.
	

	A)
	increases the availability of raw materials
	

	B)
	increases the availability of products sold in the home market
	

	C)
	reduces the availability of products sold in the home market
	+

	D)
	decreases the cost of products sold in the home market
	

	E)
	none of above mentioned
	

	66
	Which of the following is TRUE with regard to protectionism?
	

	A)
	It increases the availability of raw materials for domestic industries.
	

	B)
	It decreases the cost of products sold in the home market.
	

	C)
	It increases the availability of products sold in the home market.
	

	D)
	It can trigger retaliation from foreign governments, which reduces sales prospects for exports.
	+

	E)
	None of above mentioned
	

	67
	Which of the following statements is TRUE about protection of an infant industry?
	

	A)
	Governments can impose temporary trade barriers on foreign imports to ensure that young firms gain a large share of the domestic market.
	+

	B)
	Such protection is easy to remove.
	

	C)
	Protected companies become more efficient and produce products with lower prices.
	

	D)
	Protecting infant industries rarely allows countries to develop a modern industrial sector.
	

	E)
	None of above mentioned
	

	68
	Which of the following is an example of an offensive rationale for government intervention?
	

	A)
	The government of Erbia imposes trade restrictions on the export of plutonium to certain countries.
	

	B)
	The government of Berylia imposes a trade barrier to curtail the import of low-priced products from manufacturers in the developed economies.
	

	C)
	The government of Argonia imposes investment barriers to safeguard special interest groups.
	

	D)
	The government of Rhodia requires foreign companies to enter its huge markets through joint ventures with local firms.
	+

	E)
	None of above mentioned
	

	69
	Imposing trade restrictions such as tariffs or quotas ________.
	

	A)
	increases the availability of raw materials
	

	B)
	increases the availability of products sold in the home market
	

	C)
	reduces the availability of products sold in the home market
	+

	D)
	decreases the cost of products sold in the home market
	

	E)
	none of above mentioned
	

	70
	Which of the following is TRUE with regard to protectionism?
	

	A)
	It increases the availability of raw materials for domestic industries.
	

	B)
	It decreases the cost of products sold in the home market.
	

	C)
	It increases the availability of products sold in the home market.
	

	D)
	It can trigger retaliation from foreign governments, which reduces sales prospects for exports.
	+

	E)
	None of above mentioned
	

	71
	Which of the following statements is TRUE about protection of an infant industry?
	

	A)
	Governments can impose temporary trade barriers on foreign imports to ensure that young firms gain a large share of the domestic market.
	+

	B)
	Such protection is easy to remove.
	

	C)
	Protected companies become more efficient and produce products with lower prices.
	

	D)
	Protecting infant industries rarely allows countries to develop a modern industrial sector.
	

	E)
	None of above mentioned
	

	72
	Which of the following is an example of an offensive rationale for government intervention?
	

	A)
	The government of Erbia imposes trade restrictions on the export of plutonium to certain countries.
	

	B)
	The government of Berylia imposes a trade barrier to curtail the import of low-priced products from manufacturers in the developed economies.
	

	C)
	The government of Argonia imposes investment barriers to safeguard special interest groups.
	

	D)
	The government of Rhodia requires foreign companies to enter its huge markets through joint ventures with local firms.
	+

	E)
	None of above mentioned
	

	73
	Nontariff trade barriers have increased in popularity partly because they ________.
	

	A)
	A) generate profits for foreign firms
	

	B)
	B) are easier to conceal from the WTO
	+

	C)
	C) restrict trade by imposing direct tax
	

	D)
	D) have been fairly successful in eliminating smuggling along international borders
	

	E)
	E) None of above mentioned
	

	74
	An import license refers to a ________.
	

	A)
	tax charged on an imported product whose price is below usual prices in the local market
	

	B)
	list of complex procedures imposed on importers that hinder trade and investment
	

	C)
	complicated system of establishing quotas
	

	D)
	formal permission to import
	+

	E)
	none of above mentioned
	

	75
	Restrictions on the outflow of hard currency from a country or on the inflow of foreign currencies is called ________.
	

	A)
	antidumping duty
	

	B)
	currency appreciation
	

	C)
	currency control
	+

	D)
	currency depreciation
	

	E)
	none of above mentioned
	

	76
	Governments sometimes retaliate against subsidies by imposing ________, tariffs on products imported into a country to offset subsidies given to producers or exporters in the exporting country.
	

	A)
	local content requirements
	

	B)
	investment incentives
	

	C)
	countervailing duties
	+

	D)
	antidumping duties
	

	E)
	none of above mentioned
	

	77
	________ are used when governments impose limits, under which firms agree to limit exports of certain products.
	

	A)
	Voluntary export restraints
	+

	B)
	Antidumping duties
	

	C)
	Countervailing duties
	

	D)
	Quotas
	

	E)
	None of above mentioned
	

	78
	Which of the following entry strategies do most firms use in the absence of high tariffs?
	

	A)
	FDI
	

	B)
	licensing
	

	C)
	joint ventures
	

	D)
	exporting
	+

	E)
	none of above mentioned
	

	79
	Which of the following is a method used by some manufacturers to avoid paying high tariffs?
	

	A)
	assemble products in the target market
	+

	B)
	produce a large number of less expensive items in the target market
	

	C)
	employ highly skilled workers in the export location regardless of the cost
	

	D)
	ship products to fewer international locations
	

	E)
	none of above mentioned
	

	80
	________ refer to post-industrial countries characterized by high per-capita income, highly competitive industries, and well-developed commercial infrastructure.
	

	A)
	Underground economies
	

	B)
	Emerging markets
	

	C)
	Advanced economies
	+

	D)
	Transition economies
	

	E)
	None of above mentioned
	

	81
	Emerging markets are ________.
	

	A)
	developing economies where goods and services are directly exchanged for other goods and services
	

	B)
	post-industrial countries characterized by high per-capita income, highly competitive industries, and well-developed commercial infrastructure
	

	C)
	low-income countries characterized by limited industrialization and stagnant economies
	

	D)
	former developing economies that have achieved substantial industrialization, modernization, and rapid economic growth since the 1980s
	+

	E)
	none of above mentioned
	

	82
	Developing economies ________.
	

	A)
	account for nearly two-thirds of world GDP
	

	B)
	are often highly developed in historical and cultural terms
	+

	C)
	are characterized by high purchasing power
	

	D)
	have a high literacy rate
	

	E)
	none of above mentioned
	

	83
	________ in developing economies deter firms from these countries from participating in the global economy.
	

	A)
	Low trade volumes
	

	B)
	Bureaucracy and red tape
	+

	C)
	High inward FDI
	

	D)
	Lack of a rich cultural heritage
	

	E)
	None of above mentioned
	

	84
	Transition economies were once socialist states but have been largely transformed into capitalism-based systems, partly through ________.
	

	A)
	low inward FDI
	

	B)
	high trade barriers
	

	C)
	low energy consumption
	

	D)
	privatization of state-owned industries
	+

	E)
	none of above mentioned
	

	85
	The new global challengers have become formidable competitors primarily because ________.
	

	A)
	of instant brand recognition
	

	B)
	of the easy availability of low-cost labor, skilled workforces, government support, and family conglomerates
	+

	C)
	of superior market research and customer service
	

	D)
	of substantial government funding, high wages, and value-chain diversification
	

	E)
	none of above mentioned
	

	86
	In an informal economy ________.
	

	A)
	market value of all officially recognized final goods and services produced within a country is substantially lowered
	

	B)
	economic transactions are not officially recorded and are therefore left out of national GDP calculations
	+

	C)
	exchange rates are low
	

	D)
	the household income is substantially larger than that in a formal economy
	

	E)
	none of above mentioned
	

	87
	Firms use foreign trade zones to ________.
	

	A)
	consolidate market monopolies
	

	B)
	assemble foreign dutiable materials and components into finished products, which are then re-exported
	+

	C)
	create employment opportunities for the local people
	

	D)
	meet quota demands established by the government
	

	E)
	none of above mentioned
	

	88
	Which of the following should an international manager keep in mind about the constantly fluctuating exchange rates?
	

	A)
	The prices the firm charges should be quoted in the firm's currency exclusively.
	

	B)
	The firm and its customers should use the exchange rate as it stands on the date of each transaction, there is no scope for an agreement between them to use any other specific exchange rate.
	

	C)
	If goods are bought from a supplier whose currency is appreciating against the buyer's currency, the buyer will have to pay a lesser amount of their currency to complete the purchase.
	

	D)
	The time taken between placement and delivery of an order can at times go up to a few months; fluctuations in the exchange rate during that time can cost or earn the firm money.’
	+

	E)
	None of above mentioned
	

	89
	Currency risk can best be defined as the risk that occurs when ________.
	

	A)
	currency values remain constant for prolonged periods
	

	B)
	one currency changes in relation to another currency
	+

	C)
	buyers and sellers disagree over which currency to use
	

	D)
	fluctuations in the stock market affect all exchange rates
	

	E)
	none of above mentioned
	

	90
	A French company sells goods to a foreign customer whose currency is depreciating against the euro. Which of the following will the company most likely experience when completing the sale?
	

	A)
	The company will receive fewer euros if the sales price was expressed in the buyer's currency.
	+

	B)
	The company will receive more euros if the sales price was expressed in the buyer's currency.
	

	C)
	The company will receive fewer euros if the sales price was expressed in euros originally.
	

	D)
	The company will receive more euros if the sales price was expressed in euros originally.
	

	E)
	None of above mentioned
	

	91
	Which of the following is an effect caused by capital flight?
	

	A)
	It increases the need for domestic investment holdings.
	

	B)
	It decreases the ability of the nation to service debt and pay for imports.
	+

	C)
	It reduces harmful currency restrictions.
	

	D)
	It decreases the nation's supply of hard currencies.
	

	E)
	None of above mentioned
	

	92
	Which of the following statements is most likely to be TRUE regarding a currency's price if the supply of the currency increases?
	

	A)
	The price of the currency fluctuates randomly.
	

	B)
	The price of the currency remains constant.
	

	C)
	The price of the currency lowers.
	+

	D)
	The price of the currency increases.
	

	E)
	None of above mentioned
	

	93
	Which of the following does the central bank perform in order to accommodate a nation's economic growth?
	

	A)
	enforce strict regulations on foreign direct investment
	

	B)
	increase the nation's money supply
	+

	C)
	establish a voluntary export restraint
	

	D)
	restrict innovation and entrepreneurship
	

	E)
	none of above mentioned
	

	94
	Which of the following terms refers to the summary of all transactions between one country and the rest of the world over a given period of time?
	

	A)
	momentum trading
	

	B)
	trade surplus
	

	C)
	exchange rate system
	

	D)
	balance of payments
	+

	E)
	none of above mentioned
	

	95
	Which of the following has contributed to the emergence of a large Eurocurrency market?
	

	A)
	lower interest rates on Eurocurrency loans
	+

	B)
	regulations of home-country banking systems
	

	C)
	loans repaid interest-free at face value
	

	D)
	low interest rates on Eurocurrency deposits
	

	E)
	none of above mentioned
	

	96
	All of the following are characteristic of the parent's perspective approach in capital budgeting EXCEPT that it ________.
	

	A)
	estimates future cash flows from the project
	

	B)
	uses the subsidiary's local currency
	+

	C)
	forecasts forward rates
	

	D)
	uses the functional currency of the parent
	

	E)
	none of above mentioned
	

	97
	Strategy is ________.
	

	A)
	a quality of executive management that provides inspirational guidance and motivation to personnel, leading the firm to a better future
	

	B)
	the pattern of shared values, behavioral norms, systems, policies, and procedures that employees learn and adopt
	

	C)
	a planned set of actions that managers employ to make the best use of the firm's resources and core competencies to gain competitive advantage and accomplish organizational objectives
	+

	D)
	the procurement of selected value-chain activities, including production of intermediate goods or finished products, from independent suppliers
	

	E)
	none of above mentioned
	

	98
	Graham Technologies is a U.K.-based consumer electronics manufacturer. The company markets netbooks, smartphones, laptops, and desktops in the international market and each product division operates as a stand-alone profit center with substantial autonomy. This is an example of a ________.
	

	A)
	global matrix structure
	

	B)
	functional structure
	

	C)
	product structure
	+

	D)
	geographic area structure
	

	E)
	none of above mentioned
	

	99
	In establishing a firm's organizational structure, a fundamental issue is ________.
	

	A)
	how to optimize local responsiveness and flexibility
	

	B)
	how much decision-making responsibility the firm should retain at headquarters
	+

	C)
	 how to leverage natural endowments available to the firm
	

	D)
	how the firm should invest in human assets
	

	E)
	none of above mentioned
	

	100
	Which of the following tasks in the global market opportunity assessment process should be performed directly before the task of estimating company sales potential?
	

	A)
	analyze the company's readiness to internationalize
	

	B)
	screen countries to identify target markets
	

	C)
	assess industry market potential
	

	D)
	choose qualified foreign business partners
	+

	E)
	none of above mentioned
	


